FERE-ZEMEO (L f#)

(1) EADOEXIE (6x+24) cm, HEEIE (144 —187) cm®
2 EAOEXE 6z cm, EEIE 27 cm?

1) ADEXE 27r><6><%+6+12+6:67r+24(cm)
. 180 )
Eﬁli 12x12—7 X6 XW:144—1871'(C1'1’1)
180 180 180
FDEX == = 2 _
2) BEADNEXIE 6xnx 360+2><7r>< 360 +4><7r><360 67 (cm)
" 2y 180 (b 180 o, 180V 9 5
EHElE 7x3 X365 <7r><1><360+7r><2 360>_27r 5T
=27r(cm?
ﬁ”’:
0 \ O\

O MHALICELZ2HA, BELY, B9 ABOEE-SHHREERT 5,
® O THERLAESRLERIOZSEE O LT3,

ZDL%, OA=0B THZ75, K0 Fiomody O

TH5, B

(1) FEHEIE 60 cm?, FARIL 24 cm?
(2) FEMEIL 887 cm?, AHEIX 1127 cm?®
(3) RMEMEIL 967 cm?, AFEIL 967 cm?

1) EERE %x3x4=6 (cm?)

BIEREIE 3x4+4%x4+5%x4=48(cm?

o T, KEHEIX
6X2+48=60(cm?
EEEN6cm?, BXMWN4cm DZARTHE75, TOKEIZ
6x4=24(cm?
2) EEOMHD¥REIZ4cm THEMS, EEEIX
7X42=16x7 (cm?)
fIE&EIE 77X (7 x8)=56x(cm?
o T, KEEIX
167 X 2+ 567 =887 (cm?)
JEEEN 167 cm?, EXMNT7cm OHEETHE7 56, ZOEKEK
167 x7=1127 (cm?)
3) EEMEIX 7x6°=36x(cm?
L 22585 FHOXEIZ10cm T, AOEIIE 2rx6=127 (cm)
TR I3

% X 127 %X 10 =607 (cm?)

FoT, REHEIX
367 + 607 =967 (cm?)
EERED 367 cm?, EXMN8cm DA THBEMNS, TDEMEIL

% X 367 X 8 =967 (cm?®)



